H & 0l & AHS B Ml A

SN 2S5
B 3= 29
el S5 At 3 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=5 436,474 364,452 72,022
== 29 3%4,314 323,702 70,612
= Atg3H| 3%4,314 323,702 70,612
A2 0= A 62,800 63,000 A200
401 AIE2BIXL S THYI 62,800 63,000 A200
01 A28l 62,800 63,000 A200
OARRE o= A 50,000
Oar2 Fe=JAAS(FLA S2AIY) 12,800
=SS A2 126,810 92,278 34,532
101 @124H| 5,534 5,202 332
M IIRINZENSES 5,634 5,202 332
OF2 &2 JI=EH
163,700 x9 & x4 5,534
201 et 3| 40,576 40,576
01 At 2|l 17,076 17,076
Oget=EH| 13,800
O=s 2| 1,680
OFAIROIBH| & HI4ESAUHIA
133,000 #1042+ 123 1,59%
02 S3=gHl 23,500 23,500 0
OAIE2 &= X 2,000
OSEUALESIIFNES
50,000& * 122 600
O=32= & HMAl 11,000
Og | 4,000
ONOIESE HZHI(F2IA 2 ALY) 900
ONOIEEE S22 (Al SHAAY) 2,000
O&Eitg 24| 3,000
206 M=l 500 500
01 MZH| 500 500
OFcz¥ N=&YE He+Y 500
401 AIZHIX S0HH 70,000 45,000 25,000
01 AlZH| 70,000 45,000 25,000
SSEA 15 AIR4 HHISA
70,000,000 * 14! 70,000
405 KHaHE SH 10,200 1,000 9,200
01 AL =S F=H| 10,200 1,000 9,200
Ozlola Hah 7 400,000& =174 6.800
Ozl9a J4EX F 3,400
Ef= (sl 3,000
fHEY AEEA 400
ssHd 2B 4,284 4,284 0
301 22N = 4,284 4,284 0




SN 2S5
ZH: 35 29
el S5 At 3 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
06 AHELHUHAEIXZ 4,284 4,284 0
O=si=4dl 29 4,284
Sclgd=g 121,620 113,340 8,280
301 LEtE N = 121,620 113,340 8,280
07 S8 -0 - 2243 113,340 113,340 0
Oos&+¢ 107,640
JlExg 300,000 x23E «12& 82,800
o= 300, 0003 x23E +200% 13,800
CIETSES
20,0002 x23Z *12E +23] 11,040
ogtd 2= 25,0003 *114H 23] 5,700
4Bt 2as 8,280 0 8,280
OSH Stles= 30,0002 x23F 122 8,280
ATZHAKRA 4,680 4,680
301 LELE NS 4,680 4,680
11 dALEEIXIE S 3,680 3,680
O2HoIEZE 20,000& x5 & *52] 500
OF&H 20,0003 %50 1,000
OJIEFHAL 20,0002 +40H 800
O0IF(28) M=U3l 60,0002 23 1,380
14 JIEt2d= 1,000 1,000 0
Osae2 1,000
ANEM=U2 X 2SHA 11,000 11,000
201 er2 3| 11,000 11,000
03 A= I 11,000 11,000
OAIZIH=UZ] 11,000
AXAEY 29 63,120 46,120 17,000
201 fer= 3| 5,400 5,400 0
01 At 2|l 3,600 2,600 1,000
OXXIAE Y 23] 2,600
FUXRI e &0t 1,000
03 Ar=EHI 1,800 2,800 21,000
OXXIAE S THHI 2 H 3 1,800
301 LEtE N = 44,920 40,720 4,200
11 #AIAHIXIZ S 9,520 9,520 0
OFUAXAE 2 2o&A AMH|Eat
20,0002 x28H * 122 6,720
OXXIAIEE TSR A
20,0002 70 1,400
O=CINXI&SH3 &It AHIS4
50,0008 x28H 1,400
4Bt 23 35,400 31,200 4,200




SN 2S5
B 3= 29
el S5 At 3 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ORHAIMZE 2A+E
35,0003 *81t=+120A1 2t 33,600
ORAIME S TEZA +9
150,000 * 12042 1,800
405 KHaHE SH 12,800 12,800
01 Tt =S F=H 12,800 12,800
OXAAES 2571 3,000
Osad 2374 9,800
Mol & THE 2kl 3,000 3,000 0
THOH A Ofl'gd 3,000 3,000 0
THoH HEE Ol & = X2 3,000 3,000 0
201 2= 3,000 3,000 0
01 At22t2l] 3,000 3,000 0
Oss=7 St 8xtg 1,000
Odtd =Xl2cl &bl Sx=z 2,000
HH2AZHI(SS) 39,160 37,750 1,410
s Jl2& 39,160 37,750 1,410
== Jl=3dtl 39,160 37,750 1,410
201 2= 2,900 2,950 A50
01 At22t2l] 2,900 2,950 A50
OFFd Hez22+E 25,0002 116 2,900
202 04l 24,600 24,600
01 2LHoIH 1,200 1,200
O=LHxHl 1,200
02 A0 23,400 23,400 0
OZA04H| 150,0002 *13&+ 122 23,400
203 =4l 11,660 10,200 1,460
01 J122ggR=4a| 8,100 6,600 1,500
OJ|2=2g8g =2t 8,100
02 SRIHHA =TI 560 600 240
Ot =8| 40,0008 * 14 560
04 A2 LRFAI 3,000 3,000 0
ORNEgE =AY 250,000 * 12 3,000




